
 
 
 
 
 
 
 
 
 
 
 
［１］次の計算をしなさい。 
(1)  (＋4)－(＋9)    (2) (＋8)－(－6) 
 
 
(3) (－12)－(＋5)    (4) (－25)－(－18) 
 
 
(5) (－20)－0     (6) 0－(－14) 
 
 
 
［２］次の計算をしなさい。 
(1) (＋1.8)－(＋2)     (2) (－3.6)－(－3.6) 
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中学数学 

 §1-4-1 減法の規則 

学習日   ／ 

理解度 1 2 3 4 5 

【減法の規則】 
  減法では，引く数の符号を逆にして加法に変換する。 
   －(＋○)＝＋(－○)   －(－○)＝＋(＋○) 
  ＊0 を含む減法  ○－0＝○  0－(＋○)＝－○  0－(－○)＝＋○ 
  ＜例＞ 
   (＋8)－(＋5)＝(＋8)＋(－5)    (＋8)－(－5)＝(＋8)＋(＋5) 



＜解答＞ 
 
［１］ 
(1) 与式＝(＋４)＋(－9)＝－5 
(2) 与式＝(＋8)＋(＋6)＝＋14 
(3) 与式＝(－12)＋(－5)＝－17 
(4) 与式＝(－25)＋(＋18)＝－7 
(5) ○－0＝○ だから 与式＝－20 
(6) 0－(－○＝＋○ だから 与式＝＋14 
 
［２］ 
(1) 与式＝(＋1.8)＋(－2)＝－0.2 
(2) 与式＝(－3.6)＋(＋3.6)＝0 

(3) 与式＝ �＋９
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(6) 与式＝�－ 24
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［１］ 
(1) －5 
(2) ＋14 
(3) －17 
(4) －7 
(5) －20 
(6) ＋14 
 
［２］ 
(1) －0.2 
(2) 0 
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